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1.Some people hold that it is the
television that makes the relationship
of family members not as close as
before. To what extent do you agree
or disagree”?




2.Some people hold that old people
should be taken care at home, while
others think they should be placed in
old people’s house. Discuss both
sides and give your opinion.




3.Nowadays it is difficult for
university graduates to find a job.
Analyze the personal and social
reasons and offer some solutions.




4 \When we seek a future career,
what factors should we consider?
Whose suggestions should we
consider?




5.Increasing the price of petrol is the
best way to solve growing traffic and
pollution problems.

To what extent do you agree or
disagree”?

What other measures do you think
might be effective?
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You should spend about 20 minutes on
this task.

The table below gives information about
changes in modes of trave/ in England
between 71985 and 2000.

Wirite a report for a university lecturer
adescribing the information shown below.

You should write at least 150 words.




Average distance in miles travelled per person per year, by mode of travel

1985

2000

Walking

255

237

Bicycle

51

41

Car

3,199

4,806

Local bus

429

274

Long distance bus

54

124

Train

366

Taxi

42

Other

All modes




The table illustrates the changes in
modes of travel in England over 15
years(1985 to 2000).




The number of all modes increased
slightly from 4740 miles per person
per year in 1985 to 6475 in 2000.
There was a sharp rise in the
number of long distance bus and taxi

over the 15 years. However, the
period from 1985 to 2000 witnessed
a moderate growth in the number of
car, train and other modes.




There was a slight decrease in the
number of walking and bicycle
between 1985 and 2000. The
number of local bus suffered from a
dramatic drop from 420 in 1985 to

274 in 2000.




In 1985, car had the highest number in all
the modes. Other modes occupied the
second place with 450. The number of
local bus was much higher than that of
train. Taxi had the lowest number. In

2000, Car ranked the first place, while
bicycle had the lowest number.
Interestingly, the number of long distance
bus was approximately 3 times as much
as that of bicycle(124 and 41
respectively).




